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Perfformiad yr holl ymgeiswyr ar draws y cwestiynau

Teitl y cwestiwn N Sgôr gymedrig GS Marc uchaf Ff H Cynnig %
1A 573 6.6 3.6 15 43.8 64.6
1B 559 6.5 3.6 15 43.2 63
2A 286 7.3 3.4 15 48.4 32.2
2B 284 6.9 3.4 15 46 32
3A 161 8 3.3 15 53 18.1
3B 162 8.9 3.7 15 59.3 18.3
4A 161 8.6 3.5 15 57.5 18.1
4B 162 7.6 3.4 15 50.4 18.3
5A 563 8 3 15 53.4 63.5
5B 557 7.7 3.3 15 51.5 62.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Satisfactory analysis and relevant evaluation of the issue.







Band 1 (1-6 marks)



Sticky Note

Band 1 – 6 marc
Ychydig iawn o wybodoeth gyda lefel isel o cywirdeb.
Peth defnydd o iaith grefyddol.
Cychwyn da i’r gwaith – paragraff cyntaf da iawn.
Cymysgu rhwng y dadl cosmolegol a’r un teleolegol.
Cyfeiriad yn unig at Tennant.












Band 2 (7-12 marks)



Sticky Note

Band 2  - 9 marc
Paragraff agoriadaol da.
Ychydig o ddadansoddiad o’r cwestiwn.
Ychydig o bwyntiau sydd wedi eu codi.
 Trefn i’r gwaith.
Cyfeiriad at y glec fawr ond rhai pwyntiau ddim yn gwneud synnwyr – Aquinas yn seilio ei waith ar Newton.

















Sticky Note

Band 3 -16 marc
Gwybodaeth perthnasol a chywir ar y cyfan.
Ymateb boddhaol, sy’n ateb gofynion y cwestiwn dan sylw. 
Defnydd da o iaith grefyddol a chywirdeb iaith.
Cyfeiriad at Tennant ond i gael band uwch dylid cyfeirio at ddadl anthropig ac esthetig Tennant.
Roedd yna cyfeiriad at waith Aquinas ond gellid fod yn ddyfnach ei natur.
Nid oedd angen cyfeirio at Paley – ond nododd mai gwaith Paley oedd y syniad am yr oriawr a’r garreg.
















Sticky Note

Band 4 – 20 marc
Dadansoddiad pwrpasol o’r cwestiwn.
Prif pwyntiau wedi eu hadnabod ac wedi ymateb iddynt. Tystiolaeth a rhesymeg wedi eu cynnig
Trefn ir gwaith.
Iaith cywir a defnydd o iaith grefyddol.
Gellid fod wedi cynnwys dyfyniadau er mwyn cefnogi pwyntiau neu dadansoddiadau.
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UNED 2 – Cyflwyniad i Athroniaeth Crefydd


Adran B


Atebwch un cwestiwn o’r adran hon.


(a) Esboniwch y gwahanol ddadleuon teleolegol dros fodolaeth Duw a gyflwynodd
Aquinas a Tennant.	 [30]


(b) ‘Mae dadleuon gwyddonol yn fwy perswadiol na dadleuon teleolegol wrth esbonio’r
bydysawd.’
Gwerthuswch y farn hon.	 [30]


DIWEDD Y PAPUR


ⓗ WJEC CBAC Cyf.
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AS Generic Band Descriptors 
 


Band Assessment Objective AO1 – Part (a) questions   30 marks 
 


Demonstrate knowledge and understanding of religion and belief, including: 


- religious, philosophical and/or ethical thought and teaching  
- influence of beliefs, teachings and practices on individuals, communities and societies  
- cause and significance of similarities and differences in belief, teaching and practice  


- approaches to the study of religion and belief. 


 
 
 
5 


25-30 marks 


 Thorough, accurate and relevant knowledge and understanding of religion and belief.  


 An extensive and relevant response which answers the specific demands of the question set. 


 The response shows an excellent standard of coherence, clarity and organisation.  


 The response demonstrates extensive depth and/or breadth. Excellent use of evidence and 
examples. 


 Thorough and accurate reference made to sacred texts and sources of wisdom, where appropriate. 


 Thorough and accurate use of specialist language /vocabulary in context. 


 Excellent spelling, punctuation and grammar. 


 
 
4 


19-24 marks 


 Accurate and relevant knowledge and understanding of religion and belief.  


 A detailed, relevant response which answers the specific demands of the question set. 


 The response shows a very good standard of coherence, clarity and organisation.  


 The response demonstrates depth and/or breadth. Good use of evidence and examples. 


 Accurate reference made to sacred texts and sources of wisdom, where appropriate. 


 Accurate use of specialist language and vocabulary in context.  


 Very good spelling, punctuation and grammar. 


 
 
3 


13-18 marks 


 Mainly accurate and relevant knowledge and understanding of religion and belief.  


 A satisfactory response, which generally answers the main demands of the question set. 


 The response shows a satisfactory standard of coherence, clarity and organisation.  


 The response demonstrates depth and/or breadth in some areas. Satisfactory use of evidence and 
examples. 


 Mainly accurate reference made to sacred texts and sources of wisdom, where appropriate. 


 Mainly accurate use of specialist language and vocabulary in context. 


 Satisfactory spelling, punctuation and grammar. 


 
 
 
2 


 


7-12 marks 


 Limited knowledge and understanding of religion and belief. Basic level of accuracy and relevance.  


 A basic response, addressing some of the demands of the question set. 


 Partially accurate response, with some signs of coherence, clarity and organisation.  


 The response demonstrates limited depth and/or breadth, including limited use of evidence and 
examples. 


 Some accurate reference made to sacred texts and sources of wisdom, where appropriate. 


 Some accurate use of specialist language and vocabulary in context. 


 Some minor, recurring errors in spelling, punctuation and grammar. 


 
 
1 


1-6 marks 


 Very limited knowledge and understanding of religion and belief. Low level of accuracy and 
relevance.  


 A very limited response, with little attempt to address the question.  


 Very limited accuracy within the response with little coherence, clarity and organisation. 


 The response demonstrates very limited depth and/or breadth. Very limited use of evidence and 
examples. 


 Little or no reference made to sacred texts and sources of wisdom, where appropriate. 


 Some grasp of basic specialist language and vocabulary 


 Errors in spelling, punctuation and grammar affect the meaning and clarity of communication. 
 


N.B.  A maximum of 2 marks should be awarded for a response that only demonstrates 


     'knowledge in isolation' 


0  No relevant information. 
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Band 


Assessment Objective AO2- Part (b) questions  30 marks 


Analyse and evaluate aspects of, and approaches to, religion and belief, 


including their significance, influence and study. 


5 


25-30 marks 
 


 Confident critical analysis and perceptive evaluation of the issue. 


 A response that successfully identifies and thoroughly addresses the issues raised by the 
question set. 


 The response shows an excellent standard of coherence, clarity and organisation.  


 Thorough, sustained and clear views are given, supported by extensive, detailed reasoning 
and/or evidence. 


 Thorough and accurate use of specialist language and vocabulary in context. 


 Excellent spelling, punctuation and grammar. 


4 


19-24 marks 


 


 Purposeful analysis and effective evaluation of the issue. 


 The main issues raised by the question are identified successfully and addressed. 


 The response shows a very good standard of coherence, clarity and organisation.  


 The views given are clearly supported by detailed reasoning and/or evidence. 


 Accurate use of specialist language and vocabulary in context. 


 Very good spelling, punctuation and grammar. 


3 


13-18 marks 


 


 Satisfactory analysis and relevant evaluation of the issue. 


 Most of the issues raised by the question are identified successfully and have generally been 


addressed. 


 The response shows a satisfactory standard of coherence, clarity and organisation.  


 Most of the views given are satisfactorily supported by reasoning and/or evidence. 


 Mainly accurate use of specialist language and vocabulary in context. 


 Satisfactory spelling, punctuation and grammar. 


2 


7-12 marks 


 


 Some valid analysis and inconsistent evaluation of the issue. 


 A limited number of issues raised by the question set are identified and partially addressed. 


 Partially accurate response, with some signs of coherence, clarity and organisation.  


 A basic attempt to justify the views given, but they are only partially supported with reason 


and/or evidence. 


 Some accurate use of specialist language and vocabulary in context. 


 Some minor, recurring errors in spelling, punctuation and grammar. 


1 


1-6 marks 


 


 A basic analysis and limited evaluation of the issue. 


 Very limited accuracy within the response, with little coherence, clarity and organisation. 


 An attempt has been made to identify and address the issues raised by the question set.  


 Little attempt to justify a view with reasoning or evidence. 


 Some grasp of basic specialist language and vocabulary. 


 Errors in spelling, punctuation and grammar affect the meaning and clarity of communication. 


0     No relevant analysis or evaluation. 
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2. (a) Apply Bentham’s hedonic calculus to the use of nuclear weapons as a 
deterrent. [AO1 30] 


 
Candidates could include some of the following, but other relevant 
responses should be credited. 
 


 Bentham’s utilitarianism is a relativist theory that does not give definitive 
moral guidelines about the use of nuclear weapons as a deterrent.  This 
means that candidates may apply the criteria of the hedonic calculus in 
different ways to the issue and give different weightings to the quantity of 
pleasure and pain that results.  All reasonable applications should be 
credited. 


 Bentham’s theory of utility is based on the premise that a moral action is 
one that will maximise pleasure and minimise pain.   


 The Hedonic Calculus is a set of criteria designed to measure which 
course of action will create the ‘greatest happiness for the greatest 
number’ in a given moral situation.   


 In the case of the use of nuclear weapons as a deterrent, the balance of 
pleasure and pain should be considered using the seven criteria of the 
calculus. 


 Intensity – the strength of pleasure that comes from avoiding nuclear war 
and from the sense of security a deterrent gives may be considered. 


 Duration – the possession of nuclear weapons as a deterrent is seen to 
have contributed to the long-term peace and stability of much of the world 
following World War 2. 


 Certainty – some may suggest that we cannot be certain whether peace 
in the latter half of the 20th Century stems from the possession of nuclear 
weapons or from other factors. The weapons may fall into the ‘wrong’ 
hands and we would not then be certain that they would be used as a 
deterrent alone.  


 Remoteness – candidates may explain that the happiness that comes 
from a feeling of security is closer than the pain which may come from the 
eventual use of nuclear weapons. 


 Fecundity – the possession of nuclear weapons as a deterrent may lead 
to further pleasure as countries seek out alternative methods of conflict 
resolution.  Alternatively, the use of nuclear weapons as a deterrent may 
increase distrust globally and lead to international relations based on 
threats of violence rather than cooperation, which is unlikely to lead to 
further pleasure. 


 Purity – the possession of nuclear weapons as a deterrent is not a pure 
pleasure, as the knowledge of the destructive capabilities of such 
weapons, and the fear of misuse will cause some pain.  Also, the cost of 
maintaining a nuclear deterrent means that some will experience pain 
through the choices countries make in order to fund such weapons. 


 Extent – if the deterrent works, then the pleasure extends, at least, to the 
populations of the countries which possess nuclear weapons.  The extent 
may be greater if groups of allies are considered. 


 
This is not a checklist, please remember to credit any valid alternatives. 
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 (b) ‘Pleasure is the only true basis for morality.’  
 
 Evaluate this view.  [AO2 30] 
 


Candidates could include some of the following, but other relevant 
responses should be credited. 
 


 Utilitarianism is based on maximising pleasure and minimising pain, 
deriving this from the hedonist approach which values pleasure as the 
basis for morality. 


 One line of argument is that all humans ultimately value pleasure and 
therefore basing morality on pleasure means that a moral action is one 
that fulfils human nature. 


 However, some may argue that this makes humans little better than swine 
and that love, reason, or obedience to the will of God may be the true 
basis for morality as these aspects distinguish humans from animals. 


 Candidates may develop this point using Mill’s distinction between higher 
and lower forms of pleasure and argue that higher pleasures are a more 
appropriate basis for morality. 


 Another line of argument is that pleasure is subjective and therefore an 
inadequate basis for morality.  To develop this argument, alternative 
applications of the criteria of the hedonic calculus to a particular issue 
could be used. 


 Along similar lines, it could be argued that it is impossible to quantify 
pleasure in any meaningful way, and that the hedonic calculus does not 
really help to objectively measure pleasure in real life situations.   


 Alternatively, it could be claimed that the hedonic calculus does offer a 
meaningful way of weighing up which actions are moral and that the 
answers derived from this process fit in with our general moral intuitions, 
making it a genuine basis for morality. 


 However, examples could be given in which the action which produces 
‘the greatest happiness for the greatest number’ could produce injustice 
or immorality.  


 It could be argued that basing morality on pleasure will always lead to a 
relativist approach to morality, and that actually humans require moral 
absolutes to form the true basis for morality. 


 Candidates may choose to argue that ‘pleasure’ needs to be defined more 
clearly or qualified in order to form the basis for morality.  They may argue 
for an alternative form of utilitarianism such as rule utilitarianism or 
preference utilitarianism in making their case. 


 Candidates may also choose to argue in favour of one of the other ethical 
theories studied: natural law or situation ethics, as forming a better basis 
for morality.  


 
Overall, candidates should engage with the debate and come to a 
substantiated evaluation regarding the issue raised. 
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Sticky Note

Gwybodaeth a dealltwriaeth gyfyngedig o grefydd a chred. Nid yw’r ymgeisydd yn llwyddo i adnabod nifer o nodweddion penodol y Calcwlws Hedonaidd. Ceir lefel sylfaenol o gywirdeb a pherthnasedd.  Dyma ateb sylfaenol sy'n bodloni rhai o ofynion y cwestiwn a osodwyd. Tueddir cyfeirio at ddefnydd arfau niwlcear yn hytrach na’r syniad ohonynt fel arf ataliol. Am hyn, mae'r ateb yn dangos dyfnder cyfyngedig. Ceir rhywfaint o ddefnydd cywir o iaith a geirfa arbenigol mewn cyd-destun. Mae yma rhai mân wallau sillafu, atalnodi a gramadeg sy'n ymddangos fwy nag unwaith. 
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02A02b: 14



Sticky Note

Dadansoddiad boddhaol a gwerthusiad perthnasol o’r mater. Mae’r ateb sy'n nodi'r rhan fwyaf o'r materion a godwyd gan y cwestiwn yn llwyddiannus ac sy'n mynd i’r afael â nhw'n gyffredinol. Ceir cydlyniad, eglurder a threfn o safon foddhaol yn yr ateb. Mae’r rhan fwyaf o safbwyntiau wedi'u cefnogi'n foddhaol gan resymu a thystiolaeth. Ceir ychydig iawn o bwyntiau gwerthuso er bod yr ymgeisydd yn tynnu ar ddamcaniaethau eraill y cwrs mewn modd llwyddiannus. Ceir defnydd cywir ar y cyfan o iaith a geirfa arbenigol mewn cyd-destun.  

















Sticky Note

Gwybodaeth a dealltwriaeth gyfyngedig o grefydd a chred. Nid yw’r ymgeisydd yn llwyddo I adnabod nifer o nodweddion penodol y Calcwlws Hedonaidd am am hyn ceir lefel sylfaenol o gywirdeb a pherthnasedd.  Ceir ateb sylfaenol sy'n bodloni rhai o ofynion y cwestiwn a osodwyd. Dyma ateb rhannol gywir sy’n meddu ar rywfaint o gydlyniad, eglurder a threfn. Tueddir cyfeirio at ddefnydd arfau niwlcear yn hytrach na’r syniad ohonynt fel arf ataliol. Am hyn, mae'r ateb yn dangos dyfnder a/neu ehangder cyfyngedig, gan gynnwys defnydd cyfyngedig o dystiolaeth ac enghreifftiau. 
















Sticky Note

Dyma ddadansoddiad boddhaol a gwerthusiad perthnasol o’r mater. Ceir ateb sy'n nodi'r rhan fwyaf o'r materion a godwyd gan y cwestiwn yn llwyddiannus ac sy'n mynd i’r afael â nhw'n gyffredinol. Ceir cydlyniad, eglurder a threfn o safon foddhaol yn yr ateb. Gwelir rhan fwyaf o safbwyntiau wedi'u cefnogi'n foddhaol gan resymu a/neu dystiolaeth. Mae’n amlwg bod yr ymgeisydd wedi deall hapusrwydd yn yr ystyr ehangach ac wedi tynnu oddi ar agweddau eraill o’r cwrs uwch gyfrannol i gynnig ateb addas. Mae’r ymgeisydd yn enwi nifer o ddamcaniaethau perthnasol wrth gyflwyno gwerthusiad perthnasol.
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UNED 2 – Cyflwyniad i Grefydd a Moeseg


Mae rhan (a) pob cwestiwn yn profi eich gwybodaeth a’ch dealltwriaeth o grefydd a chred.
Mae rhan (b) pob cwestiwn yn profi eich sgiliau dadansoddi a gwerthuso, o ran agweddau ar ac 
ymagweddau at grefydd a chred.


Adran A


Atebwch un cwestiwn o’r adran hon.


Neu,


(a)	 Cymhwyswch galcwlws hedonig Bentham i’r defnydd o arfau niwclear fel arf ataliol.
[30]


(b)	 ‘Pleser yw unig wir sail i foesoldeb.’
Gwerthuswch y farn hon.	 [30]


DIWEDD Y PAPUR


ⓗ WJEC CBAC Cyf.
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Satisfactory analysis and relevant evaluation of the issue.
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AS Generic Band Descriptors 
 


Band Assessment Objective AO1 – Part (a) questions      30 marks 
 


Demonstrate knowledge and understanding of religion and belief, including: 


- religious, philosophical and/or ethical thought and teaching  
- influence of beliefs, teachings and practices on individuals, communities and societies  
- cause and significance of similarities and differences in belief, teaching and practice  


- approaches to the study of religion and belief. 


 
 
 
5 


25-30 marks 


 Thorough, accurate and relevant knowledge and understanding of religion and belief.  


 An extensive and relevant response which answers the specific demands of the question set. 


 The response shows an excellent standard of coherence, clarity and organisation.  


 The response demonstrates extensive depth and/or breadth. Excellent use of evidence and 
examples. 


 Thorough and accurate reference made to sacred texts and sources of wisdom, where appropriate. 


 Thorough and accurate use of specialist language /vocabulary in context. 


 Excellent spelling, punctuation and grammar. 


 
 
4 


19-24 marks 


 Accurate and relevant knowledge and understanding of religion and belief.  


 A detailed, relevant response which answers the specific demands of the question set. 


 The response shows a very good standard of coherence, clarity and organisation.  


 The response demonstrates depth and/or breadth. Good use of evidence and examples. 


 Accurate reference made to sacred texts and sources of wisdom, where appropriate. 


 Accurate use of specialist language and vocabulary in context.  


 Very good spelling, punctuation and grammar. 


 
 
3 


13-18 marks 


 Mainly accurate and relevant knowledge and understanding of religion and belief.  


 A satisfactory response, which generally answers the main demands of the question set. 


 The response shows a satisfactory standard of coherence, clarity and organisation.  


 The response demonstrates depth and/or breadth in some areas. Satisfactory use of evidence and 
examples. 


 Mainly accurate reference made to sacred texts and sources of wisdom, where appropriate. 


 Mainly accurate use of specialist language and vocabulary in context. 


 Satisfactory spelling, punctuation and grammar. 


 
 
 
2 


 


7-12 marks 


 Limited knowledge and understanding of religion and belief. Basic level of accuracy and relevance.  


 A basic response, addressing some of the demands of the question set. 


 Partially accurate response, with some signs of coherence, clarity and organisation.  


 The response demonstrates limited depth and/or breadth, including limited use of evidence and 
examples. 


 Some accurate reference made to sacred texts and sources of wisdom, where appropriate. 


 Some accurate use of specialist language and vocabulary in context. 


 Some minor, recurring errors in spelling, punctuation and grammar. 


 
 
1 


1-6 marks 


 Very limited knowledge and understanding of religion and belief. Low level of accuracy and 
relevance.  


 A very limited response, with little attempt to address the question.  


 Very limited accuracy within the response with little coherence, clarity and organisation. 


 The response demonstrates very limited depth and/or breadth. Very limited use of evidence and 
examples. 


 Little or no reference made to sacred texts and sources of wisdom, where appropriate. 


 Some grasp of basic specialist language and vocabulary 


 Errors in spelling, punctuation and grammar affect the meaning and clarity of communication. 
 


N.B.   A maximum of 2 marks should be awarded for a response that only demonstrates 


          'knowledge in isolation' 


0  No relevant information. 
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Band 


Assessment Objective AO2- Part (b) questions   30 marks 


Analyse and evaluate aspects of, and approaches to, religion and belief, 


including their significance, influence and study. 


5 


25-30 marks 
 


 Confident critical analysis and perceptive evaluation of the issue. 


 A response that successfully identifies and thoroughly addresses the issues raised by the 
question set. 


 The response shows an excellent standard of coherence, clarity and organisation.  


 Thorough, sustained and clear views are given, supported by extensive, detailed reasoning 
and/or evidence. 


 Thorough and accurate use of specialist language and vocabulary in context. 


 Excellent spelling, punctuation and grammar. 


4 


19-24 marks 


 


 Purposeful analysis and effective evaluation of the issue. 


 The main issues raised by the question are identified successfully and addressed. 


 The response shows a very good standard of coherence, clarity and organisation.  


 The views given are clearly supported by detailed reasoning and/or evidence. 


 Accurate use of specialist language and vocabulary in context. 


 Very good spelling, punctuation and grammar. 


3 


13-18 marks 


 


 Satisfactory analysis and relevant evaluation of the issue. 


 Most of the issues raised by the question are identified successfully and have generally been 


addressed. 


 The response shows a satisfactory standard of coherence, clarity and organisation.  


 Most of the views given are satisfactorily supported by reasoning and/or evidence. 


 Mainly accurate use of specialist language and vocabulary in context. 


 Satisfactory spelling, punctuation and grammar. 


2 


7-12 marks 


 


 Some valid analysis and inconsistent evaluation of the issue. 


 A limited number of issues raised by the question set are identified and partially addressed. 


 Partially accurate response, with some signs of coherence, clarity and organisation.  


 A basic attempt to justify the views given, but they are only partially supported with reason 


and/or evidence. 


 Some accurate use of specialist language and vocabulary in context. 


 Some minor, recurring errors in spelling, punctuation and grammar. 


1 


1-6 marks 


 


 A basic analysis and limited evaluation of the issue. 


 Very limited accuracy within the response, with little coherence, clarity and organisation. 


 An attempt has been made to identify and address the issues raised by the question set.  


 Little attempt to justify a view with reasoning or evidence. 


 Some grasp of basic specialist language and vocabulary. 


 Errors in spelling, punctuation and grammar affect the meaning and clarity of communication. 


0        No relevant analysis or evaluation. 
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4. (a) Explain the different teleological arguments for the existence of God 
presented by Aquinas and Tennant. [AO1 30] 


 
Candidates could include some of the following, but other relevant 
responses should be credited. 
 
Aquinas and Tennant present teleological arguments expressed in an 
inductive form; they are a posteriori arguments for God’s existence – 
dependent on evidence or experience.  
 
Aquinas had two arguments (NB the two are often conflated as they do work 
together and this is acceptable): 
 


 Argument from order and regularity: the regular movement of ‘natural 
bodies’; everything in the universe follows natural laws, even if they 
possess no intelligence (i.e. the regular movement of the stars in the sky 
– which in Aquinas’s time people had no rational ‘scientific’ explanation 
for.  
 


 Argument from purpose: starting point for this argument was observation 
of existing and observable objects that appeared to be working towards 
an end or purpose; even objects that lack intelligence still behaved in 
purposeful ways. From this Aquinas goes on to induct a conclusion that 
something was guiding them to behave thus; uses the analogy of the 
archer. 


 
The ideas of order and purpose work together to suggest an intelligent being 
and the only possible explanation was that this guiding intelligence was God. 


 
Tennant had two arguments: 
 


 The Anthropic Principle: by observing the existing universe and 
inducting a conclusion that the precise nature of this universe, and its 
various components, were deliberately designed so as to support the 
development of intelligent life. For Tennant it was the existence of a set of 
evidences that provided the ideal circumstances for humans to exist. The 
provision was for the sustenance of life as well as demonstrating that the 
universe allowed itself to be analysed, something that led to benefit for 
humankind. The process of evolution that leads to human life is seen as a 
deliberate natural mechanism, planned by a divine designer, included 
within the fabric of the universe. 
 


 The Aesthetic Principle: Tennant develops his ideas to include the 
aspect of beauty as a provision from a benevolent designer that allows 
humankind to ‘enjoy’ existence. This provision is also considered by 
Tennant to be a divine revelation – demonstrating both the existence as 
well as nature of God.  


 
This is not a checklist, please remember to credit any valid alternatives. 
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 (b) ‘Scientific arguments are more persuasive than teleological arguments in 
explaining the existence of the universe.’ 


 


 Evaluate this view.  [AO2 30] 
 


Candidates could include some of the following, but other relevant 
responses should be credited. 


 


 Scientific arguments are based on logical and empirical bases.  As such, 
these entirely rational arguments, offer a clear and sold set of proofs that 
can readily be verified and thus can be taken as strong arguments, 
persuading via universally acknowledged and accepted criteria. 
Teleological arguments are not as clearly based on these things and so 
do not have the ability to be as easily accepted, undermining their 
persuasiveness. 


 In the 21st Century, scientific arguments are often readily accepted as 
there is often an assumption that scientists are well informed as well as 
intelligent. Philosophical arguments, such as teleological arguments do 
not have the same level of acceptance in contemporary society. 


 Darwin’s theory of evolution is useful in understanding how life on earth 
developed – it does not provide an answer for why the universe exists or 
why it exists in the way that it does, therefore this form of scientific 
argument cannot be considered to be persuasive when considering the 
existence of the universe whereas teleological arguments are able to 
provide a response to this question and therefore provide a persuasive 
argument. 


 Teleological arguments usually posit the idea that there is some kind of 
purpose for the universe’s existence, with an underlying intelligence 
responsible for this purpose, this view supports those who maintain a 
belief in a divine power. Scientific arguments do not depend on this 
approach, not least because there is no clear empirical evidence that 
supports such a view. In this sense, those that require empirical evidence 
to help persuade within an argument, would be more inclined to accept 
scientific arguments than philosophical ones. 


 Teleological arguments are as much based on faith as they are on 
reason. For those who accept faith as a valid premise, then this would 
make the teleological arguments persuasive – but for those who are 
unwilling to accept this premise then the persuasiveness of the argument 
is much reduced. 


 The longevity of teleological arguments suggest that there is a 
persuasiveness about them, as they have not been entirely discredited. 
Scientific arguments are not always accepted by all people and therefore 
may not always be considered to be universally persuasive. 


 Scientific views are often used to complement teleological arguments – 
making them appear more persuasive. The two sets of arguments are not 
necessarily mutually exclusive. 


 Hume as en empiricist may be used as an example of presenting a variety 
of scientific challenges.  


 Intelligent design including irreducible complexity can show how scientific 
means can be used to consolidate the idea of God's design. 


 


Overall, candidates should engage with the debate and come to a 
substantiated evaluation regarding the issue raised. 


 
 
2120U20-1 WJEC GCE AS Religious Studies Unit 2 Opt. B MS S18/DM 
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AS Generic Band Descriptors 
 


Band Assessment Objective AO1 – Part (a) questions   30 marks 
 


Demonstrate knowledge and understanding of religion and belief, including: 


- religious, philosophical and/or ethical thought and teaching  
- influence of beliefs, teachings and practices on individuals, communities and societies  
- cause and significance of similarities and differences in belief, teaching and practice  


- approaches to the study of religion and belief. 


 
 
 
5 


25-30 marks 


 Thorough, accurate and relevant knowledge and understanding of religion and belief.  


 An extensive and relevant response which answers the specific demands of the question set. 


 The response shows an excellent standard of coherence, clarity and organisation.  


 The response demonstrates extensive depth and/or breadth. Excellent use of evidence and 
examples. 


 Thorough and accurate reference made to sacred texts and sources of wisdom, where appropriate. 


 Thorough and accurate use of specialist language /vocabulary in context. 


 Excellent spelling, punctuation and grammar. 


 
 
4 


19-24 marks 


 Accurate and relevant knowledge and understanding of religion and belief.  


 A detailed, relevant response which answers the specific demands of the question set. 


 The response shows a very good standard of coherence, clarity and organisation.  


 The response demonstrates depth and/or breadth. Good use of evidence and examples. 


 Accurate reference made to sacred texts and sources of wisdom, where appropriate. 


 Accurate use of specialist language and vocabulary in context.  


 Very good spelling, punctuation and grammar. 


 
 
3 


13-18 marks 


 Mainly accurate and relevant knowledge and understanding of religion and belief.  


 A satisfactory response, which generally answers the main demands of the question set. 


 The response shows a satisfactory standard of coherence, clarity and organisation.  


 The response demonstrates depth and/or breadth in some areas. Satisfactory use of evidence and 
examples. 


 Mainly accurate reference made to sacred texts and sources of wisdom, where appropriate. 


 Mainly accurate use of specialist language and vocabulary in context. 


 Satisfactory spelling, punctuation and grammar. 


 
 
 
2 


 


7-12 marks 


 Limited knowledge and understanding of religion and belief. Basic level of accuracy and relevance.  


 A basic response, addressing some of the demands of the question set. 


 Partially accurate response, with some signs of coherence, clarity and organisation.  


 The response demonstrates limited depth and/or breadth, including limited use of evidence and 
examples. 


 Some accurate reference made to sacred texts and sources of wisdom, where appropriate. 


 Some accurate use of specialist language and vocabulary in context. 


 Some minor, recurring errors in spelling, punctuation and grammar. 


 
 
1 


1-6 marks 


 Very limited knowledge and understanding of religion and belief. Low level of accuracy and 
relevance.  


 A very limited response, with little attempt to address the question.  


 Very limited accuracy within the response with little coherence, clarity and organisation. 


 The response demonstrates very limited depth and/or breadth. Very limited use of evidence and 
examples. 


 Little or no reference made to sacred texts and sources of wisdom, where appropriate. 


 Some grasp of basic specialist language and vocabulary 


 Errors in spelling, punctuation and grammar affect the meaning and clarity of communication. 
 


N.B.  A maximum of 2 marks should be awarded for a response that only demonstrates 


     'knowledge in isolation' 


0  No relevant information. 
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Band 


Assessment Objective AO2- Part (b) questions  30 marks 


Analyse and evaluate aspects of, and approaches to, religion and belief, 


including their significance, influence and study. 


5 


25-30 marks 
 


 Confident critical analysis and perceptive evaluation of the issue. 


 A response that successfully identifies and thoroughly addresses the issues raised by the 
question set. 


 The response shows an excellent standard of coherence, clarity and organisation.  


 Thorough, sustained and clear views are given, supported by extensive, detailed reasoning 
and/or evidence. 


 Thorough and accurate use of specialist language and vocabulary in context. 


 Excellent spelling, punctuation and grammar. 


4 


19-24 marks 


 


 Purposeful analysis and effective evaluation of the issue. 


 The main issues raised by the question are identified successfully and addressed. 


 The response shows a very good standard of coherence, clarity and organisation.  


 The views given are clearly supported by detailed reasoning and/or evidence. 


 Accurate use of specialist language and vocabulary in context. 


 Very good spelling, punctuation and grammar. 


3 


13-18 marks 


 


 Satisfactory analysis and relevant evaluation of the issue. 


 Most of the issues raised by the question are identified successfully and have generally been 


addressed. 


 The response shows a satisfactory standard of coherence, clarity and organisation.  


 Most of the views given are satisfactorily supported by reasoning and/or evidence. 


 Mainly accurate use of specialist language and vocabulary in context. 


 Satisfactory spelling, punctuation and grammar. 


2 


7-12 marks 


 


 Some valid analysis and inconsistent evaluation of the issue. 


 A limited number of issues raised by the question set are identified and partially addressed. 


 Partially accurate response, with some signs of coherence, clarity and organisation.  


 A basic attempt to justify the views given, but they are only partially supported with reason 


and/or evidence. 


 Some accurate use of specialist language and vocabulary in context. 


 Some minor, recurring errors in spelling, punctuation and grammar. 


1 


1-6 marks 


 


 A basic analysis and limited evaluation of the issue. 


 Very limited accuracy within the response, with little coherence, clarity and organisation. 


 An attempt has been made to identify and address the issues raised by the question set.  


 Little attempt to justify a view with reasoning or evidence. 


 Some grasp of basic specialist language and vocabulary. 


 Errors in spelling, punctuation and grammar affect the meaning and clarity of communication. 


0     No relevant analysis or evaluation. 
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GCE RELIGIOUS STUDIES 
 


SUMMER 2018 MARK SCHEME 
 


Unit 2 Section A: An Introduction to Religion and Ethics 
 


MARK SCHEME 
 


To be read in conjunction with the generic level descriptors provided. 
 
 


1. (a) Apply Fletcher’s Situation Ethics to ethical issues relating to homosexual 
relationships. [AO1 30] 


 
Candidates could include some of the following, but other relevant 
responses should be credited. 


 


 Situation Ethics is a relativist theory that will not give a definitive moral 
guideline about homosexual relationships. Each relationship will be 
assessed relative to the law of agape.  This means that candidates have 
considerable freedom to interpret how the theory may be applied and may 
take a range of different approaches to their answer. 


 Candidates may apply the four working principles to consider issues 
relating to homosexual relationships.  


 For example, pragmatism – the chosen course of action must work in 
practice towards the most loving outcome.  Candidates may point out that 
the position taken by some Christians that gay couples may live together 
but must not have a physical relationship could be regarded as immoral 
as it is not a pragmatic requirement and is likely to lead to frustration 
rather than a loving outcome. 


 Personalism – candidates may explain that the choices made by different 
couples about how to live out an ethical relationship must be respected, 
and that doing the most loving thing for the people in each individual 
relationship is important.   


 Candidates may also apply the six fundamental principles to consider 
ethical issues relating to homosexual relationships. 


 For example, ‘the ruling norm of Christian decision making is love,’ – 
candidates may explain that this principle could lead to Christians acting 
out of agape rather than obedience to a narrow interpretation of certain 
passages in scripture when it comes to homosexual relationships.   


 Candidates may explain alternative interpretations of biblical passages 
related to homosexuality. For example, the story of Sodom and Gomorrah 
may be interpreted as condemning all homosexual relationships, or as 
condemning any non-consensual physical relationship, or as being a 
condemnation of the lack of hospitality shown to strangers. Candidates 
may discuss these interpretations in the light of the fundamental principle.    


 ‘Love wills the neighbour’s good, whether we like them or not.’  This 
principle could be linked to Jesus’ approach to those considered 
‘outsiders’ in his society and candidates could explain how this approach 
could influence the views of heterosexual Christians towards gay 
relationships. 


 
This is not a checklist, please remember to credit any valid alternatives. 
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 (b) ‘Agape (selfless love) should replace all religious rules.’ 
 
 Evaluate this view.  [AO2 30] 
 


Candidates could include some of the following, but other relevant 
responses should be credited. 
 


 Candidates may use Fletcher’s fundamental principle to argue that love 


should lie at the heart of all Christian moral decision making.  They may 


support this with biblical teaching such as 1 Corinthians 13. 


 This line of argument may be supported with examples from the life of 


Jesus in which he acts out of love rather than rigid adherence to religious 


law, such as healing on the Sabbath. 


 Situation Ethics allows a more flexible response to moral issues which 


could be seen as more useful than following a rigid set of laws and rules.  


This point may well be illustrated with examples of contemporary moral 


issues where particular religious rules may appear to give an unfair or 


immoral response.   


 However, the difficulty of understanding and applying the law of agape to 


different situations could be considered. 


 One line of argument would be that humans are too easily biased and 


may apply a form of love that is not truly unconditional.   


 Candidates could argue that Jesus, as the son of God, was able to apply 


the law of agape, but that rules and regulations are required for other 


human beings to act morally. 


 Another line of argument is that the law of agape gives too much freedom 


and responsibility to flawed human beings. 


 Candidates may argue that humans require more definite guidance on 


moral decision making and that religious rules are necessary so that 


humans do not sin inadvertently when trying to act out of love.  They may 


give specific examples of religious rule which give clear moral guidance, 


such as ‘do no commit adultery.’ 


 Situation Ethics has been widely condemned by a range of religious 


leaders for being dangerously individualistic and contrary a truly Christian 


approach to ethics. It could be argued that such leaders are best placed 


to judge which moral rules should be followed. 


 To develop this point, candidates could give examples of situations in 


which an individualist approach may lead to ‘immorality’ on the basis of 


other religious rules. 


 Alternative religious rules that should always be adhered to may be 


discussed. 


 
Overall, candidates should engage with the debate and come to a 
substantiated evaluation regarding the issue raised. 
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UNED 2 – Cyflwyniad i Grefydd a Moeseg


Mae rhan (a) pob cwestiwn yn profi eich gwybodaeth a’ch dealltwriaeth o grefydd a chred.
Mae rhan (b) pob cwestiwn yn profi eich sgiliau dadansoddi a gwerthuso, o ran agweddau ar ac 
ymagweddau at grefydd a chred.


Adran A


Atebwch un cwestiwn o’r adran hon.


Naill ai,


(a)	 Cymhwyswch Moeseg Sefyllfa Fletcher i faterion moesegol sy’n ymwneud â 
pherthnasoedd cyfunrywiol.	 [30]


(b)	 ‘Dylai agape (cariad anhunanol) ddisodli pob rheol grefyddol.’
Gwerthuswch y farn hon.	 [30]
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